CAUTION

DO NOT HANG ON CROSSBAR.
THIS IS DANGEROUS AND
MAY DAMAGE YOUR EQUIPMENT

THIS UNIT IS HEAVY, ALWAYS USE

AT LEAST TWO PEOPLE TO TRANSPORT
THIS GOAL

0

m (4

PLEASE NOTE:

1) FOR SAFE OPERATION AND CONTINUED
HIGH PERFORMANCE FROM THIS EQUIPMENT,
INSPECTION AND MAINTENANCE MUST BE
PERFORMED BEFORE EACH USE

2) USE OF THIS EQUIPMENT OTHER THAN
INTENDED, MAY BE HAZARDOUS.

3) ALTERATION OR MODIFICATION OF EQUIP-
MENT MAY BE HAZARDOUS. FOR REPAIR OR
REPLACEMENT, PLEASE CALL YOUR DEALER

Jaypro Sports

976 Hartford Turnpike
Waterford, CT 06385 USA
(800)243-0533
(800)988-3363 Fax
WWW.jaypro.com

MODEL NO.:

L G-44F

PRODUCT NAME:
BOX LACROSSE GOAL
WITH FLAT BACKSTAY

EFFECTIVE DATE:
DRAWN BY: MT |~ 5 45 17




JAYPRO SPORTS
BOX LACROSSE GOAL WITH FLAT BACKSTAY, LG-44F
LIST OF MATERIALS

PIECE NO. PART NO. DESCRIPTION QTY.
1 N/A FLAT BACKSTAY 4
2 N/A RETAINING WASHER M10 8
3 N/A FLAT WASHER M10 8
4 N/A M10 ALLEN HEAD, PAN HEAD BOLT 8
5 N/A MOUNTING PLATE 2
6 N/A UPRIGHT 4
7 N/A CROSSBAR 2
8 N/A SOCKET HEAD SET SCREW M10 x 16 12

ASSEMBLY INSTRUCTIONS

TOOLS REQUIRED: 5 mm & 6 mm ALLEN WRENCH (PROVIDED)

1) POSITION BACKSTAYS (1) ON A LEVEL SURFACE AND JOIN REAR OF
GOAL USING THE MOUNTING PLATE (5) AND FASTENERS AS SHOWN
IN THE ILLUSTRATION. DO NOT TIGHTEN FASTENERS.

2) SLIP UPRIGHTS (6) ONTO THE HUB OF EACH BACKSTAY THEN PLACE
THE CROSSBAR (7) INTO POSITION. THE NET TIE RAILS FACE
TOWARD THE REAR OF THE GOAL.

3) SQUARE THE GOAL, CHECK FOR 48” INSIDE DIMENSION FOR THE
GOAL FACE. THEN, FULLY TIGHTEN ALL HARDWARE.

4) CHECK HARDWARE BEFORE EACH USE TO ENSURE FASTENERS ARE
FULLY TIGHTENED.



	LG-44Fi Model (1)
	LG-44Fi
	LIST OF MATERIALS
	ASSEMBLY INSTRUCTIONS


